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[示すこと:⋂ 𝐵 (𝑎,
1

𝑘
)∞

𝑘=1 = {𝑎}] 

| [示すこと: ⋂ 𝐵 (𝑎,
1

𝑘
)∞

𝑘=1 ⊂ {𝑎} i.e. ∀𝑥 ∈ ⋂ 𝐵 (𝑎,
1

𝑘
)∞

𝑘=1 , 𝑥 = 𝑎] 

| | ∀𝑥 ∈ ⋂ 𝐵 (𝑎,
1

𝑘
)∞

𝑘=1 をとる 

| | [示すこと: 𝑥 = 𝑎] 

| | | 𝑥 ≠ 𝑎と仮定する 

| | |  𝑥 − 𝑎 ≠ 0だから‖𝑥 − 𝑎‖ ≠ 0 

| | |  𝐾 =
1

‖𝑥−𝑎‖
とおく 

| | |  𝑘0 = ⌊𝐾⌋ + 1とおくと𝑘0 ∈ ℕで𝑘0 > 𝐾 

| | |  𝑥 ∈ ⋂ 𝐵 (𝑎,
1

𝑘
)∞

𝑘=1 だから𝑥 ∈ 𝐵 (𝑎,
1

𝑘0
) 

| | |  このとき‖𝑥 − 𝑎‖ <
1

𝑘0
<

1

𝐾
= ‖𝑥 − 𝑎‖ 

| | |  これは矛盾 

| | | よって𝑥 = 𝑎 

| [示すこと: ⋂ 𝐵 (𝑎,
1

𝑘
)∞

𝑘=1 ⊃ {𝑎} i.e. ∀𝑘 ∈ ℕ, 𝑎 ∈ 𝐵 (𝑎,
1

𝑘
)] 

| | ∀𝑘 ∈ ℕをとる 

| | [示すこと: 𝑎 ∈ 𝐵 (𝑎,
1

𝑘
)] 

| | | ‖𝑎 − 𝑎‖ = 0 <
1

𝑘
 

| | | よって𝑎 ∈ 𝐵 (𝑎,
1

𝑘
) 


